USSA-FS2020-11 B Whaleback, NH
Whaleback, NH
Jan 26, 2020 (Sup) (J1619) (J1618)

Jan 26, 2020 (Sun) (U1619) (U1618)

Head Judge: DZIEMIAN, Tad Chief of Comp: DYBVIG, Evan T.D.: MITCHELL, Jim

Chief of Scoring: IRWIN, Jessica Judge 1(T&A): DZIEMIAN, Tad Judge 2(T&A): LOWELL, Jesse Judge 3(Land): SAWYER,Lonnie

Aerials Event Date: Feb

Female/Male (By Score) USSA-FS2020-11 B Wha

Whaleback, NH

ack, ] in i19) (U16	Course: Inrun L Inrun P Landing Landing Table L	Blowhol ength: 3: itch: 20 c g Len: 22 g Pitch: 2 en: 12 m itch: 2 do	te oring	* *	
	Feb 5, 7:03 pm	2020 (	Т.D.	-	
udge	Manuvr	DofD	Run	Event	
5.3 3.0 8.4 6.70	fT	2.000	53.40		

No ===	Bib ===	Name	Gp ===	Rep	J.1	J.2	J.3	Judge =====	Manuvr		Run	Event
	75	MOGLUDE	- <del></del>									
1	75	MCCLURE, Rayne	FIS	LOII		1.8						
						+2.8						
1								26.70	fт	2.000	53.40	
						1.8				2.000	33.40	
1						+4.6				1		
						+2.8						
i								26.80	TS	1.700	45.56	98.96
2	47	SMITH, Jocelyn	F13	Lon		1.8				-==:		
=1						+4.2						
						+3.0						
								26.70	TS	1.700	45.39	
- 1					2.0		1.8					
					+4.7	+4.8	+4.7	14.2				
1					+2.9	+2.8	+3.0	8.7		1		
					=9.6	=9.6	=9.5	28.70	D	1.620	46.49	91.88
3	78	SAITOW, Taylor	F13	Lon								
					+3.0	+3.2	+3.8					
						+2.8				'		
								23.60	DD	1.740	41.06	
I										ļ		
						+4.6						
						+3.0						
								28.90	S	_ <b>1.</b> 600	46.24	87.30
4	89	MULCAHY, Gina	F15	Wva	1.7	1.8						
1						+3.6				1		
						+2.8						
i								25.10	TTT	1.800	45.18	
						1.6						
						+3.6						
						+2.4			ш с	1 700	27 57	00 75
		TAIT CHE MAN TO LO TO TO		T-7				22.10	TS		37.57	82.75
5	31	KNIGHT, Murphy Jan	LTT	wva								
						+4.6 +2.2						
1								25.30	c	1.600	40.48	
					1.4	1.8			5	1.000	40.40	
İ						+3.6				·		
						+2.8						
1								24.80	ת	1 620	40.17	80.65
		ROGAN Brever	뉴1 2	Witz	1 7		1-7	5 2	ــــــــــــــــــــــــــــــــــــــ			00.03
O	70	MOGAN, Breyer	гтэ	wva						ļ		
6	70	ROGAN, Breyer	F13	Wva		1.8						

No		Name	Gp ==	_	J.1	J.2	J.3	Judge	Manuvr		Run	Event
						+2.8		8.2	mе	1 700	35.19	
						1.8			15	1.700	33.19	
						+4.8					 	
						+2.6		7.8 26.70	S	1.600	42.72	77.91
7	13	SALLUM, Virginia	F11	Wva	1.1	1.2	1.2	3.5		_======	<i></i>	
						+3.8						
						+2.6 =7.6		23.50	N	1.560	36.66	
					1.5	1.7	1.5	4.7				
						+3.6 +2.6						
					=7.8	=7.9	=8.0	23.70	s	1.600	37.92	74.58
8	14	FLYNN, Molly	F11	Lon							[	
						+3.4 +2.7						
'					=8.3	=7.8	=8.3	24.40	DS	1.720	41.96	
						1.8 +3.0						
						+2.8						
 <sub></sub> -	,-,-				=8.0	=7.6	=8.4	24.00			 	41.96
9	18	GILDEA, Hyde	F11	Wva	dns	dns	dns	dns			dns dns	dns
 9	46	CRAGG, Reid	F13	Wva	dns	dns	dns	dns			dns	
1								l			dns	dns
1	93	ROGAN, Ridge	M15	Wva	1.8	1.6	1.8	5.2				
		, ,			+4.8	+4.0	+4.3	13.1				
						+2.8		8.6 26.90	5G-	2 150	57.83	
l i						2.0			36	2.150		
						+4.8						
					+2.8 =9.2	+2.8 =9.6	+2.9	28.40	7	2.060	58.50	116.33
2	83	ROCK, Eli	M13	Wva	2.0	2.0	1.8	5.8			 	
						+4.8 +2.9						
								28.60	bTk	2.000	57.20	
						2.0						
					+4.0	+4.4						
 								26.10	bL	2.050	53.50	110.70
3	82	KNIGHT, Hampton	M13	Wva	1.9		1.9					
						+4.6 +2.7						
					=9.2	=9.1	=9.5	27.80	bTk	2.000	55.60	
					$\begin{vmatrix} 1.9 \\ +4 & 3 \end{vmatrix}$	1.8 +4.4		5.6   12.8				
						+2.6					l İ	
<sub>-</sub>				,-,-				26.60	bP	2.000	53.20	108.80
4	86	REED, Connor	MI3	Wbk		2.0 +4.0						
						+2.8						
						=8.8 1.8		25.60	bPX	2.000	51.20	
					1.9  +4.0	+4.0	1.9 +3.7				' 	
					+2.8	+2.8	+2.7	8.3	<u>-</u>	0 0=5	F	100 1
<u>-</u> - 5	<sub>9</sub> -	CUNIO, Stephen	м1 5	Wva	$\begin{bmatrix} -8.7 \\ 1.9 \end{bmatrix}$		=8.3 $1.8$	25.60 5.5	pF	2.050	52.48	103.68
الا	23	conto, beephen	1110	wa		+4.8						
					+3.0	+3.0	+2.9	8.9	^	1 700	E0 70	
						=9.6 1.8		28.50 6.2	3	1.780	50.73	

No		Name	Gp ==	Rep		J.2	J.3	Judge	Manuvr	DofD	Run	Event
						+3.2 +2.8						
					=8.4	=7.8	=7.7	23.90	TS	1.700	40.63	91.36
6	58	LEWIS, Camden	M13	Gsr		1.8						
					+2.8	+2.6	+2.7	8.1				
						=9.0 1.8		26.40 5.1	3	1.780	46.99	
				ľ	+3.9	+4.6	+4.1	12.6			' 	
						+1.8		5.2 22.90	3.7	1 900	43.51	90.50
7	117	BARTLEY, Benjamin	M15	Loo	1.8	2.0	1.8	5.6	<u>-</u>			
						+4.4 +2.8					 	
					=8.6	=9.2	=8.9	26.70	3	1.780	47.52	
						1.8 +3.4						
						+2.8					 	
		WEDDER T						24.50	TS	1.700	41.65	89.17
l °	33	HERBERT, Jackson	MII	Lon		+4.6						
					+2.8	+2.8	+2.9	8.5	-	1 600		
						=9.4 2.0		27.80	S	1.600	44.48	
					+4.5	+3.6	+3.9	12.0				
						+2.6 =8.2		8.1 26.00	TS	1.700	44.20	88.68
9	38	LYONS, Madden	M11	Gsr	1.8	1.8	1.8	5.4		_ = = - = = -		
						+4.4 +2.8					' 	
					=8.7	=9.0	=8.0	25.70	TS	1.700	43.69	
						2.0 +4.2						
					+2.9	+2.6	+2.9	8.4			 	
	100	SMITH, Tommy	M1 E		=8.7	_= <u>8</u> . <u>8</u>	=8.7	26.20	TT	1.700	44.54	88.23
10	100	SMIIH, TORREY	мтэ	гоп		+4.2						
						+3.0			mс	1 700	   44 E4	
						2.0		26.20 5.8	TS	1.700	44.54	
						+3.8						
						+2.2 =8.0		6.7 23.80	3	1.780	42.36	86.90
11	40	KARIS, Brody	M11	Lon	$\bar{1.2}$	1.6	1.7	4.5				
						+4.2 +2.6						
					=7.9	=8.4	=8.8	25.10	dG	1.680	42.16	
					1.7	1.8 +4.2		5.3 12.8				
				i	+2.7	+2.8	+2.6	8.1			' 	=
12	 	CARTER, Jackson	MU 9	Lon				26.20 19.90		1.700 1.780	44.54 35.42	86.70
					1.7	1.6	1.8	5.1	3	_ , , , ,		
						+4.2 +2.6					' 	
					=8.2	=8.4	=8.2	24.80	7	2.060	51.08	86.50
13	115	LEWIS, Connor	M17	Gsr		1.8		5.3 11.9				
					+2.8	+2.6	+2.6	8.0			 	
					=8.6 1.8		=8.2 1.8	25.20 5.6	N	1.560	39.31	
						+5.0						
					+3.0	+2.7	+2.6	8.3	~	1 (20	46 45	05 76
ш					=9./	=9./	=9.1	28.50	G	1.630	46.45	85.76

No	Bib	Name	Gp = ==	Rep	J.1	J.2	J.3	Judge	Manuvr	DofD	Run	Event
14	95	O'CONNELL, Gavin	M15	Wva	1.8	1.7	1.8					
						+3.8						
						+2.8		25.50	bTk	2.000	51.00	
						1.4			~		01.00	
						+3.0						
					+1.0		+.5	2.0	ЬT	2 050	24 02	85.03
15	45	IRWIN, Austin	- <u>м</u> 11	Wbk						_2.050	34.03	00.00
		1100111		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		+4.2						
l						+2.6						
								25.30	3	1.780	45.03	
ĺ				İ		2.0						
						+2.8						
L J					=7.9	=8.6	=8.2	24.70	S	1.600	39.52	84.55
16	67	CANES, Elijah	M13	Lon								
						+4.4 +2.6						
								26.10	s	1,600	41.76	
					1.8	1.8	1.8	5.4	-			
						+3.4						
						+2.8		8.2	TS	1 700	40 16	02 02
<del> </del>	84	LONG, Peyton	 M1.3	Wva					T5	_1./00	42.16	83.92
- '	0.	Lond, region	1113	n v u		+4.6						
l					+2.8	+2.6	+2.7	8.1				
								24.90	3	1.780	44.32	
ĺ					1.1	1.8 +4.0		4.5				
						+2.6						
					=7.7	=8.4	=8.4	24.50	S	1.600	39.20	83.52
18	23	BARNES, Dylan	M11	Wva	1.7	1.8	1.5	5.0				
						+3.9						
l								8.5 25.30	S	1 600	40.48	
						1.8			J	1.000	10.10	
						+4.0						
					+2.7	+2.8	+2.5	8.0	_	1 600	44 60	00.11
19 19	<sub>o</sub> -	THERIAULT, Rowan	_ MO 0	Gsr	8.3	_ <u>=8.6</u> 8.6	8.2			$\frac{1.6201}{1.600}$	$\begin{array}{r} 41.63 \\ 40.16 \end{array}$	82.11
1	U	INEKIAODI, KOWan	МОЭ	GSI	1.8	2.0	1.7		5	1.000	40.10	
'					+4.4	+4.4	+4.6	13.4				
						+2.6				4 - 60	44 00	04 40
20	100	SAITOW, Zachary		Ton		_=9.0 1.8	1.8	26.30 5.4	N	_T.200	41.02	81.18
20	109	SATION, Zachary	MIJ	поп		+4.0						
					+3.0	+2.8	+2.8	8.6				
								26.30	TS	1.700	44.71	
					1.7	1.7 +4.1	1.8					
					+1.0	+.5						
								19.50	3	1.780	34.71	79.42
21	62	HALL, Ryan	M13	Gsr	1.7	1.8	1.8	5.3				
						+4.0						
					+.2		+.3	0.5  17.00	£ጥЪ	2 000	34.00	
					1.7	1.8	1.8		IIK	2.000	24.00	
					+4.2	+3.8	+4.2	12.2				
						+2.8			_		40 -	
22	<sub>-</sub> -	CUNDIFF, Samson	M09	TATTE -		$=\frac{8\cdot 4}{8\cdot 4}$		25.80 24.50		_1.700    1.630	43.86 39.93	77.86
~	12	CONDIFF, Samson	MO 9	wva	1.4	1.6		4.6	G	1.030	37.73	
I 1				1		+3.6						

		Name	Gp ==					Judge	Manuvr	DofD		Event
						+2.6				1 600	27.00	77.05
23	2.4	MCCLURE, Tighe	M11	Lon	$\begin{bmatrix} -\frac{1}{2}, \frac{1}{2} \\ -\frac{1}{2}, \frac{7}{2} \end{bmatrix}$	$=\frac{7.8}{2.0}$	1.5	23.70	S		-37 <b>.</b> 92	77.85
		,,				+3.6						
						+2.6			D.	1 (20	26 45	
l					=7.4			22.50	D	1.620	36.45	
					+3.5	+3.8	+4.1	11.4				
1						+2.8			C	1 600	30.00	74 52
24	27	KARIS, Carter	M11	Lon				23.80	S		38.08	74.53
		<b>,</b>			+2.8	+3.0	+3.5	9.3				
						+2.8		8.1 21.80	D	1 620	35.31	
						1.8			ע	1.620	33.31	
					+3.8	+3.4	+3.9	11.1				
						+2.8		7.7  23.80	c	1 600	 <sub> </sub> 38.08	73.39
25	100	ISHAM, Logan	M15	Wbk	1.4	1.5	$\frac{-7.6}{1.6}$	4.5	<u>s</u>	_1.000	_ 30.00_	13.39
'		. 3			+2.8	+2.6	+2.6	8.0			 	
						+.3		2.3 14.80	2	1 700	26.34	
li					1.7		1.7		3	1.700	20.34	
						+4.0	+4.2	12.0				
						+1.8		6.1 23.30	s	1 600	37 20	63.62
26	28	BERGERON, Kane	M11	Wbk	1.1	<u>/.</u> 0-	$\frac{-6.2}{1.4}$	3.5		_1.000	_ <u>3 / • 2 0</u> _	03.02
		·			+2.5	+2.6	+2.9	8.0				
						+1.8		5.2 16.70	c	1 600	26.72	
					1.7		1.6		5	1.600	20.72	
						+1.5	+2.7	5.2				
						+2.8		8.1 18.10	AC.	1 690	   30.40	57.12
27	51	MAHADY, Henry	M13	Lon	$\frac{-3.3}{1.7}$	$\frac{-3.8}{1.8}$	1.7		u	_1.000		37.12
		• •			+4.5	+4.0	+4.2				 	
						+2.6		7.9 25.80	3.0	1 010	49.27	
1						1.8		5.3	36	1.910	49.27	
					+4.7	+4.2	+4.5					
					+2.8	+2.8 =8.8		8.1 26.80				49.27
28	114	SMITH, Caiden	M17	Lon		- <del>-</del> 3:3-	1.8	5.1			L	
		·				+4.4						
li						+1.6		4.2	3.5	1.910	42.02	
					1.8	1.8	1.8		36	1.910	42.02	
						+4.2						
						+2.6		7.8  26.10				42.02
29	54	LUND, Tucker	M13	Cro		$-\frac{-6.6}{1.6}$	1.5	4.7				
		·			+2.3	+2.5	+2.9	7.7			ı I	
						+2.8		8.1 20.50	De	1.720	35.26	
<b>1</b>					=6.4	1.6	1.7		סת	1.720	33.20	
					+3.0	+3.0	+3.8	9.8				
						+2.8						35 2 <i>6</i>
30	<sub>1</sub> -	SAITOW, Ramsey	M07	Lon		_=/.4 dns	dns	23.00 dns			dns	35.26
		·									dns	dns
30	29	PRESTON, Dashel	M11	Wva	dns	dns	dns	dns			dns dns	dns
30	97	GAUDET, Zachary	M15	Wva							dns	aiis
		· •									dns	dns

Aerials

Event Female/Male (By Score)
Whaleback, NH USSA-FS2020-11 B Wha

Date: Feb 5, 2020 (Wed) Time: 7:03 pm

No	Bib	Name	Gp	Rep	J.1	J.2	J.3	Judge	Manuvr	DofD	Run	Event
===	===		_==	===	====	====	====	=====		=====		

Winfree 2020.04, B Rules, Rand=911 @ 8:55a(20-1-26), A, Not Elim

Aerials Finals Date: Feb 5, 2020 (Wed)
Female/Male (By Group Score) Time: 7:04 pm
Whaleback, NH USSA-FS2020-11 B Wha

No	Bib#	Namo	Cn	Pon	resenting	Saara
LNO	DID#	Name	<b>G</b> р ==	rep.		Score
	31	KNIGHT, Murphy Jane	F11	Wwa	Watervil	80.7
- <u>1</u>	13	SALLUM, Virginia			Watervil	<u>55:,</u> 7 <b>4.</b> 6
3		FLYNN, Molly			Loon	<del></del>
- 4	18	GILDEA, Hyde			Watervil	dns
1	75	MCCLURE, Rayne	F13	Lon	Loon	99.0
1 2	47	SMITH, Jocelyn	F13	Lon	Loon	91.9
3	78	SAITOW, Taylor			Loon	87.3
4	70	ROGAN, Breyer	F13	Wva	Watervil	77.9
5	46	CRAGG, Reid	F13	Wva	Watervil	dns
1	89	MULCAHY, Gina	F15	Wva	Watervil	82.8
1	1	SAITOW, Ramsey	M07	Lon	Loon	dns
L						
1 2 3	11	CARTER, Jackson	M09	Lon	Loon	86.5
2		THERIAULT, Rowan			Gould/Su	81.2
] 3	12	CUNDIFF, Samson	M09	Wva	Watervil	77.8
1	33	HERBERT, Jackson			Loon	88.7
2		LYONS, Madden			Gould/Su	
3	40	KARIS, Brody			Loon	86.7
		IRWIN, Austin			Whalebac	84.6
5	23	BARNES, Dylan			Watervil	82.1
6 7		MCCLURE, Tighe	MII	_Fou	Loon	74.5
L/-	21	KARIS, Carter			Loon	73.4
8	28	BERGERON, Kane			Whalebac	57.1
<del>-</del> -		PRESTON, Dashel	MIT	wva	Watervil	dns
1		ROCK, Eli	M12		Watervil	110.7
l - 등		KNIGHT, Hampton			Watervil	108.8
3		REED, Connor			Whalebac	
$\begin{bmatrix} -3 \end{bmatrix}$	50	LEWIS, Camden			Gould/Su	
5	67	CANES, Elijah			Loon	83.9
6	<u>8</u> 4	LONG, Peyton			Watervil	83.5
7	62	HALL, Ryan			Gould/Su	<del>53.3</del>
6	<u>52</u>	MAHADY, Henry	M13	Lon	Loon	49.3
- 5	<u>51</u>	LUND, Tucker			Crotched	35.3
<del> </del>					_======================================	
1	93	ROGAN, Ridge	M15	Wva	Watervil	116.3
		CUNIO, Stephen			Watervil	91.4
2 3		BARTLEY, Benjamin			n Freesty	89 <b>.</b> 2
4	108	SMITH, Tommy	M15	Lon	Loon	86.9
5		O'CONNELL, Gavin			Watervil	85.0
6		SAITOW, Zachary			Loon	79.4
7		ISHAM, Logan			Whalebac	63.6
8	97	GAUDET, Zachary			Watervil	dns
		<b>==</b>				
	115	LEWIS, Connor			Gould/Su	85.8
2	114	SMITH, Caiden	M17	Lon	Loon	42.0
					<b>-</b>	·

Winfree 2020.04, B Rules, Rand=911 @ 8:55a(20-1-26), A, Not Elim